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Kupcarnos M.H. Pemeonuk. Teopernueckada mexaHuka c. 272.

Bapuant 1 b

a=35cM, b=>55cmM,
c=45 cMm, R =45 cm,
m1 = 80 kr, me = 18 Kr,
a = 0.16 pang, L = 25 cMm,
M, =14 Hwm, t =6 c.

a =45 cMm, b = 65 cmM,
c=>55cMm, R =55 cm,
m1 = 85 Kr, ma = 10 Kr,
a = 0.15 pang, L = 35 cwMm,
M, =5Hwm t=4c.

Bapuant 3 b c
| | \ a =30 cm, b = 40 o,
To o1 T c=35cM, R =35 cwm,
b & m1 = 45 Kr, ms = 18 KT,
=0.13 pan, L =20 cm
A «@ ) )
o -’2 zZ M,=04Hwmt=6c.
A .
n
Y2 Y1
Bapuant 4 b
‘ a=45cMm, b="T5 cwm,
ro €=60cM, R=055cn,
m1 = 60 Kr, ms = 14 KT,
B a =0.11 pag, L = 35 cMm,
LZ zZ M,=18 Hm,t=5c.
g
Y2
Bapuant 5 b
‘ ‘ ‘ a =25 cM, b =55 cwm,
T o1 ro ¢=40cM, R =30 cu,
= m1 = 25 Kr, mg = 10 Kr,
= 0.07 pan, L =15 cm
A B a ’ ’
] sz zZ M,=03Hwmt=4c.
7. 7.
y Y (1




Bapuant 6 b

a =45 cMm, b =55 cmM,
T2 T T ¢ =50 cMm, R =50 cm,

= mi1 = 25 KI, ms = 18 KT,
a = 0.09 pag, L = 35 cwMm,

(xc A ZE zZ M,=0.5Hwmt=6c.
7. 7.
n
Y2 Y1 Y
Bapuant 7 b c

‘ ‘ ‘ a =30 cMm, b =060 cmM,

T T xo c=45cM, R =35 cu,

m1 = 55 Kr, ms = 14 KT,
a = 0.14 pang, L = 20 cMm,

4 aC //E zZ M,=08Hwm t=5c.

n

c
a =25 cMm, b =45 cwm,
c=35cM, R =35 cwm,
m1 = 75 Kr, ms = 14 KT,

B a =0.14 pag, L =15 cMm,
2 zZ M,=1Hwm t=5c.
.
c
a=>50cMm, b="T0 cmM,
c =60 cMm, R =55 cwM,
mi = 50 Kr, ma2 = 6 Kr,
=0.11 pan, L =40 cm
A a , ,
ac }2 Z M,=45Hwm t=3c.
7. 7.
n
Y Y1 Y2
Bapuant 10, b c

‘ ‘ ‘ a =50 cMm, b = 60 cwMm,
Zo e z c =55 cM, R =55 cwM,
m1 = 65 Kr, mg = 14 Kr,
a = 0.16 pag, L =40 cMm,

aC A zg zZ M,=28 Hm,t=5c.
l 77 77,
Y2 y177 Yy

‘ a =35 cM, b =55 cwm,

\ |
T o To c =45 cMm, R =40 cwm,
& m1 = 25 Kr, mo = 14 K,
= 0.08 pan, L =25 cm
A B @ ) )
¢ 2z z M, =0.4Hwm t=5c.
77 l 77,
n
Y Y1

Bapuant 11 b

Y2




Bapuant 12 b

c
| a =50 cm, b = 70 cw,
Ta c =60 cMm, R =60 cwm,
m1 = 70 kr, mo = 6 KT,
a = 0.11 pan, L = 40 cm,
g Z M,=72Hwm t=3c.
Bapuant 13 b c
| | | a =45 cm, b = 65 o,
T o1 To c=>55cMm, R =50 cm,
o my = 70 Kr, ma = 18 Kr,
=0.18 pan, L =35 cm
A B, 9 ’ ’
aC z_ zZ M,=18 Hv,t =26 c.
7 .
n
y " (2
Bapuant 14 b c
‘ ‘ ‘ a =55 cMm, b = 65 cwm,
To o1 T ¢ =60 cMm, R =65 cm,
< my = 55 Kr, ma = 10 KT,
= 0.09 pan, L =45 cm
A B 9 ’ ’
2 z M,=33Hwm t=4c.
/ aC 7 77
n
Y2 " Y
Bapuant 15 b c
‘ ‘ ‘ a=45cMm, b="T5 cwm,
x o1 ro €=060cM, R =50 cm,
s m1 = 60 Kr, ma = 18 Kr,
= 0.16 pan, L = 35 cm
A B o : :
aC & Z M,=15Hwm t=6c.
7. 7.
n
Y 1 Yo
Bapuant 16 b c
‘ ‘ ‘ a =30 cMm, b = 60 cwm,
T o1 ro Cc=45cM, R =35 cm,
= m1 = 30 Kr, mg = 14 Kr,
= 0.09 pan, L =20 cm
A B < ’ ’
aC sz zZ M,=03Hwmt=5c.
n
y " Y2
Bapuant 17 b B
‘ a =20 cMm, b =50 cmM,
o €=35cM, R =30 cwm,
miy = 45 Kr, mg = 10 KT,
B a = 0.07 pag, L =10 cMm,
;/ﬁ zZ M,=04Hwmt=4c.

Y2




Bapuant 18 b
‘ ‘ ‘ a =155 cMm, b =65 cmM,
T2 o T c =60 cM, R =65 cm,
< m1 = 75 Kr, mo = 14 &r,
a = 0.14 pan, L = 45 cMm,
A B s om—ssHwmt=5c
« 7. 7.
l ¢
n
Y2 " Y
Bapuant 19 , b
| | | a =30 cm, b = 40 o,
To o1 T c=35cM, R =35 cwm,
= m1 = 25 Kr, ms = 10 KT,
a = 0.07 pag, L =20 cMm,
ac 4 -’2 zZ M,=04Hwmt=4c.
/ A .
n
Y2 " Y
Bapuant 20, b c
‘ ‘ ‘ a =20 cMm, b =50 cwm,
T o1 ro €=35cM, R=25cw,
o my = 35 Kr, mg = 14 Kr,
a = 0.1 pan, L =10 cwm,
% ac /g zZ M,=02Hwmt=5c.
n
y " (2
Bapuant 21, b
‘ ‘ ‘ a =35 cM, b =55 cwm,
T o1 T2 c =45 cMm, R =40 cm,
e my = 65 Kr, mg = 14 Kr,
a =0.16 pag, L = 25 cMm,
% ac ,!2 zZ M,=14Hwm t=5c.
n
Y Y1 Y2
Bapuant 22, b c
‘ ‘ ‘ a =50 cMm, b = 60 cwMm,
To o1 T c=>55cMm, R =55 cm,
= m1 = 65 Kr, mg = 14 Kr,
a = 0.16 pag, L =40 cMm,
ac 4 ,!2 zZ M,=28 Hu,t=5c.
l 77 77,
n
Y2 Y1 Y
Bapuant 23, b c
‘ a=45cMm, b="T5 cmM,
ro €=60cMm, R =55 cM,
m1 = 5D KI, mg = 18 KT,
B a =0.11 pag, L = 35 cMm,
;zﬁ zZ M,=1.1Hwm t=6c.

Y2




Bapuant 24,

x2

Y2

a =40 cMm, b =70 cwMm,
c=55cM, R =50 cm,
m1 = 80 kr, me = 10 Kr,
a = 0.14 pang, L = 30 cwMm,
M, =3.7Hwm t=4c.

Y2

a =40 cMm, b =70 cwm,
c=>55cMm, R =50 cm,
m1 = 50 kr, mg = 10 Kr,
a = 0.08 pag, L = 30 cm,
M, =1.6 Hu,t =4 c.

a =50 cMm, b =70 cMm,
¢ =60 cMm, R =55 cm,
m1 = 40 kr, ms = 14 Kr,
a =0.11 pang, L =40 cm,
M, =14 Hwm t=5c.

c
‘ a =45 cMm, b = 65 cwm,
o c=>55cMm, R =55 cm,
m1 = 70 Kr, mo = 6 KT,
B o =0.11 pan, L = 35 cwm,
2z z M,=6Hwum t=3c.
7.
c
‘ a =30 cMm, b =50 cwm,
o c =40 cm, R = 35 cwm,
m1 = 40 kr, ms = 18 KT,
A ¢ a =0.12 pag, L = 20 cMm,
& M, =04 Hwm t=6c.
7. 7.
n
Y Y1 Y2
Bapuant 29, B
a =25 cMm, b =45 cwm,
T o To c=35cMm, R=30 cm,
& m1 = 55 KI, ma = 6 KT,
a =0.12 pag, L =15 cMm,
2 ¢ £ zZ M,=15Hwm t=3c.
7. 7.

Y2




Bapuant 30,

B
2

77

a=>50cMm, b="T0 cmM,

c =60 cMm, R =60 cMm,

m1 = 60 Kr, ms = 14 KT,

a =0.11 pang, L = 40 cm,
zZ M,=22Hwm t=5c.
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20
21
22
23
24
25
26
27
28
29
30

0.152
0.355
0.115
0.167
0.222
0.094
0.204
0.204
0.528
0.232
0.139
0.531
0.164
0.242
0.155
0.125
0.188
0.203
0.207
0.162
0.230
0.232
0.105
0.339
0.224
0.169
0.530
0.126
0.575
0.169

0.911
1.420
0.690
0.834
0.889
0.563
1.018
1.019
1.584
1.160
0.696
1.593
0.986
0.967
0.927
0.626
0.753
1.017
0.828
0.811
1.1562
1.160
0.627
1.358
0.895
0.844
1.590
0.757
1.724
0.844

0.000
0.000
0.000
-6.622
0.000
0.000
-4.058
-2.360
4.286
-7.089
-8.974
3.158
0.000
0.000
0.000
-6.364
0.000
-7.079
0.000
-2.857
-4.430
-7.089
0.000
0.000
0.000

-10.370

2.763
0.000
1.475
-7.568

-4.592
3.684
-5.714
0.000
4.286
-14.651
0.000
0.000
0.000
0.000
0.000
0.000
-7.159
6.923
-8.077
0.000
1.818
0.000
5.714
0.000
0.000
0.000
-8.630
3.333
5.000
0.000
0.000
-6.207
0.000
0.000

45.102
51.842
-48.571
70.541
52.143
-73.837
51.304
32.079
57.500
-68.861
54.744
55.526
58.295
-73.462
76.154
63.409
35.455
-73.652
-48.571
44.286
44.747
-68.861
78.288
53.889
60.833
68.148
50.132
45.517
29.426
63.243

0.626
0.765
0.999
-1.415
0.128
1.684
-1.723
1.044
-2.587
20.674
0.536
-1.053
-0.119
-2.450
-0.917
-0.584
0.152
21.468
-1.348
-0.511
1.140
20.674
-0.179
1.682
0.518
1.199
-0.877
0.081
-1.312
1.563

1.171
-2.561
5.207
0.339
0.604
6.014
0.338
-0.205
0.544
-3.565
-0.154
0.220
2.119

-12.847

-2.632
0.187
0.264
-4.221
-4.087
0.126
-0.198
-3.565
-1.279
2.549
1.151
-0.284
0.184
0.703
0.254
-0.371

0.057
-2.007
-0.584
4.824
-0.461
-1.093
4.625
1.135
-3.435
-13.142
1.158
-5.037
1.154
1.361
1.891
1.680
-0.340
-14.950
0.934
1.431
3.507
-13.142
0.838
-2.701
-1.189
2.794
-4.430
0.373
-1.363
2.422

2.560

-4.500
-3.491
-1.157
-1.789
-4.018
-0.909
-0.223
0.723

2.266

-0.333
1.054

4.004

8.635

8.050

-0.537
-0.831
2.939

2.714

-0.353
-0.609
2.266

3.757
-8.080
-3.555
-0.662
0.929

1.360

0.264

-0.574




